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10,282,586 3,401,426 6,881,160
= 500,000 0 500,000
& 9,782,586 3,401,426 6,381,160
10,282,586 3,401,426 6,881,160
s 500,000 0 500,000
= 9,782,586 3,401,426 6,381,160
#Hy) 10,218,436 3,365,276 6,863, 160
£ 500,000 0 500,000
S 9,718,436 3,365,276 6,363, 160
NASHSSHIMA - TS 1,387,436 1,350,276 37,160
SHES 22 LKA S H M A 180,192 143,032 37,160
201 e 172,275 137,275 35,000
01 Ar2eltl 145,000 115,000 30,000
[ et==H| 130,000 110,000 20,000
OSHALE
2& 110,000,000& 110,000 90,000 20,000
O2d=g 15,000 5,000 10,000
OSHE L= =S
Z2& 15,000,000& 15,000 5,000 10,000
SHAL2 Z ] 5,000 0 5,000
HEHLHSIREES] 5,000 0 5,000
f=48dl 6,480 4,320 2,160
=Y 6,480 4,320 2,160
g 2,160 0 2,160
EIHIOIEH AL =& 5,251,000 2,005,000 3,246,000
£ 500,000 0 500,000
S 4,751,000 2,005,000 2,746,000
2,221,000 2,005,000 216,000
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Z2& 10,000,000 10,000 5,000 5,000
403 MRS 201 211,000 0 211,000
02 S712S0 U A= H 2 E AL 211,000 0 211,000
OFA=SZH0IEHSHSASAY 211,000 0 211,000
FRUFEEN A =EE L3 1,000,000 0 1,000,000
= 500,000 0 500,000
L= 500,000 0 500,000
1,000,000 0 1,000,000
s 500,000 0 500,000
= 500,000 0 500,000
AL I 1,000,000 0 1,000,000
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RECIEE= e =P 1,000,000 0 1,000,000
= 500,000 0 500,000
< 500,000 0 500,000
AQIELRI XML AL ZLAS(2IREXIR) 30,000 0 30,000
308 KHXISHHISOI 20,000 0 20,000
11 2O ZSUICHE S AR P EALI | 20,000 0 20,000
OADIELRINMHI AL ZUAE 20,000 0 20,000
408 XX SIS X0/ H 0,000 0 0,000
02 B 2SOICHE AH= = RISt At 0,000 0 10,000
OADIELRINMEI AL ZUAS 0,000 0 10,000
OIP-AQISBBHERE(NYLBUHSIIS) 2,000,000 0 2,000,000
308 XX SIS 01 2,000,000 0 2,000,000
11 BIIZHSOICHE S A E P AL 2,000,000 0 2,000,000
(e P-AHSHEHETS 2,000,000 0 2,000,000
HEHH A ST A= 3,580,000 0 3,580,000
DHIERE A AEH | E & 3,580,000 0 3,580,000
201 Y2y 80,000 0 80,000
01 AL 2|t 30,000 0 30,000
mETETER =T 30,000 0 30,000
OAEIAN2LE MRS 20,000 0 20,000
OMEHHA PRSI B ES DY 5,000 0 5,000
Os4+ASER S 5,000 0 5,000
03 #AL2 ] 50,000 0 50,000
OHERSE M SN0/ A ALY 50,000 0 50,000
308 KX SIS 01 2,400,000 0 2,400,000
11 2O ZSUICHE S AP AL 2,400,000 0 2,400,000
OZ=SHEHANESHEDS 1,000,000 0 1,000,000
CIHEHA A0 IEIDI 2 600,000 0 600,000
OHEBIrIRMERZIELY 100,000 0 100,000
OHErESgetolpATZME IS 500,000 0 500,000
OHEHHA M B ME 7S 200,000 0 200,000
408 RXISHH SRH=O0I & 1,100,000 0 1,100,000
02 IS OICHE A2 = 9ISt At 1,100,000 0 1,100,000
CIMERH ARSI ME DS 1,100,000 0 1,100,000
H2H A (HERHAZ 2 2) (OIEHIIEH 64,150 46,150 18,000
EEL 64, 150 46,150 18,000
I 64, 150 46,150 18,000
201 Y2y 29,400 17,000 12,400
01 AL 29,400 17,000 12,400
mETRTER =T 12,000 6,000 6,000
ONPESEUALZEDAY  ZF 9,000,002 9,000 6,000 3,000
OEETINLIDE =T 3,000 0 3,000
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O=l 16,000 9,600 6,400

OYFR=NSAHI &4&d 16,000,0002 16,000 9,600 6,400

202 04t 28,000 23,000 5,000

01 2oL 28,000 23,000 5,000

OR=T0d] & 28,000,000& 28,000 23,000 5,000

208 BF 2| 3,600 3,000 600

4 FA2IELRFA| 3,600 3,000 600

[J20e101at &% 3,600,000 3,600 3,000 600




